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1
1.1
NEXCO
1.1.1
Sample _6.F8B
1.1.2
@
(]
o
o]
= 2
e
300
() ()
() ()
S =
Lo Lo
300
i
? i)
5000
350 35
5700
@
1.1.3
(kN/m*)
y a 22.50
yt 19.00
y sat 20.00
yc 24.50
y w 9.81
1.1.4
a 1.064
( ) Ko 0.500
CASE-1
( ) Ko 0.500
( ) Ko 0.300
CASE-2
( ) Ko 0.300

FORUMS8



1.1.5

1.1.6

1.1.7

1.1.8

case (m) (m)
1 0.000 0.000
(kN/m*)
0.000
0.000
0.000
() )
0.0 0.0
0.0 0.0
0.0 0.0
0.0 0.0
o ck | N/mm? 30.00
oca| N/mm’ 10.00
oca| N/mm’ 10.00
oca| N/mm’ 7.50
oca| N/mm’ 9.00
T al | N/mm’ 0.250
T a2 | N/mm* 1.900
Ta N/mm? 1.000
T oa| N/mm’ 1.80
T oa| N/mm’ 1.80
Ec N/mm? 2.80 x 10°
—_ — SD345
osa| N/mm’ 180.00
( ) osa| N/mm’ 180.00
osa| N/mm’ 200.00
( Es Ec ) n E— 15.0

FORUMS8




1.1.9

1.1.10

1.1.11

1.1.12

(cm) (cm)
10.0 10.0
10.0 10.0
10.0 10.0
10.0 10.0
—_— 10.0
T 2 250 (kN)
= 80.0 ()
B = 90.00 ( )
B =100.00 ( )
D
@
€))
®
®)
©)
ga = 300.0  (kN/m?)

FORUMS8




1.2
1.2.1
@
case No
1
@
case
1 T (2 ) 250(kN)
2
©))
case No No
1 1 o
2 2 o

FORUMS8




1.2.2

(case-1)

1 800

€))

@

®

€))

w=0.350 x 24.50 = 8.57 (kN/m?)
w=0.350 x 24.50 = 8.57 (kN/m?)

w=0.350 x 24.50 = 8.57 (kN/m?)

a
=1.064 x 0.000 x 22.50 = 0.00 (KN/m?)
= 1.064 x 1.800 x 19.00 = 36.39 (kN/m?)

@

Swd = 36.39 (KN/m?)

0.000 (kN/m?)
0.000 (KN/m?)
0.000 (kN/m?)

®

> qd 0.000 (kN/m*)

w= 36.39 + 0.00 = 36.39 (kN/m%)

FORUMS8




pi = Kox (qd + Yoxy a+ Zoxy )

CASE-1  CASE-2
Ko : = 0.500 , 0-300
= 0.500 , 0.300
qd = 0.00 (kN/m?)
Yo = 0.000 (m)
ya: = 22.50 (KN/m®)
% = 19.00 (kN/m®)
Zo (m)
@
CASE-1 CASE-2
Zo (m) p (KN/m?) Zo (m) p (kKN/m?)
p: 1.800 17.10 1.800 10.26
p. 1.975 18.76 1.975 11.26
Ps 7.325 69.59 7.325 41.75
Pa 7.500 71.25 7.500 42.75
¢))
CASE-1 CASE-2
Zo (m) p (kN/m?) Zo (m) p (kN/m?)
p: 1.800 17.10 1.800 10.26
p: 1.975 18.76 1.975 11.26
Ps 7.325 69.59 7.325 41.75
Pa 7.500 71.25 7.500 42.75
[ CASE-1 ]
\ H X y M
(kN/m) (kN/m) Q) @) (KN.m/m)
51.08 2.850 145.59
42.88 0.175 7.50
42.88 5.525 236.88
207.42 2.850 591.14
251.80 2.268 571.01
-251.80 2.268 -571.01
34425 981.11

FORUMS8




[ CASE-2 ]
v H X y M
(kN/m) (KN/m) (m) m (KN.m/m)
51.08 2.850 145.59
42.88 0.175 7.50
42.88 5.525 236.88
207.42 2.850 591.14
151.08 2.268 342.61
-151.08 2.268 -342.61
344.25 981.11
[ CASE-1 ]
€y
M
X = ﬁ = 2. 850 (m)
B
6= - X=0.000 (m
@
Me =XVx e-= 0.00 (KN.m/m)
P 6 X Me
al = 5 + o = 60.39 (kN/m?)
pY 6 X M
o= - S =60.39 (kV/m)
- ql T
al” = ql + 9w o 6039 (kN/m)
B 2
1 - T
@ =gt T o 6039 (KN/m)
B 2
T
gl BOX
qr BOX
ql’
ar’
[ CASE-2 ]
€Y
M
X = E = 2. 850 (m)
B
e= - X= 0.000 (m)

FORUMS8



@)
Me

ql

qr

=3XVx e= 0.00 (KN.m/m)
SV 6 X Me
=St = 60.39 (V)
SV 6 X Me
=S = 60.39 (V/m)
- ql T
—ql+ T o 60,39 (N/m)
B 2
1- T
e+ T T o 60,39 (RN/m)
B 2
T -
gl : BOX
gr : BOX
ql’
qr’

FORUMS8



1.2.3

(case-1)
1T 2 250 (kN)
6 000
100. OkN
25. OkN
/// \\\ /// \\\ 5
// \\ // \\ O
// \\ // \\ @
AT B
M .
| |
| |
| |
| |
| |
| |
| |
| |
| |
| |
[ e —— _
2XP X (1+1)
Pl+i = ————
2.75
(P1+i) X B
Pyl = ———
2XD + Do
Pl+i : BOX (kN/m)
P (kN)
i
Pvl (kN/m?)
D = 1.800 (m)
Do (m)
B
2 X 100.0 X (1 +0.112)
#% # Pl+i = = 80.87 (kN/m)
2.75
Pvl = 80.87 X 0.900 19.15 (kN/m?)
2 X 1.800 + 0.20
2 X 25.0 X (1+0.112)
B #f Pl+i = = 20.22 (kN/m)
2.75
Pyl = 20.22 X 1.000 5.32 (kN/m%)

2 X

1.800 + 0.20

FORUMS8




- 10 -

@
(kN/m?) (m) (m)
19.15 0.775 3.800
5.32 0.000 0.000
)
wl = 0.00 (KN/m?)
p = Kox wl = 0.500 x 0.00 = 0.00 (kN/m?)
®)
wl = 0.00 (KN/m?)
p = Kox wl = 0.500 x 0.00 = 0.00 (kN/m?)
\% H X y M
(kN/m) (kN/m) O) @ (kN.m/m)
72.79 2.850 207.44
0.00 0.000 0.00
0.00 2.850 0.00
0.00 2.850 0.00
72.79 207.44
@
=M
X=——= 2,850 (m
Y
B
e=E—X= 0. 000 (m)

FORUMS8




- 11 -

)
Me =3%XVx ex= 0.00 (KN.m/m)
SV 6 X Me
ql = N 2 X 0.800 = 10.22 (kN/m)
B B
SV 6 X Me 2
@ = ( - 2 X 0.800 = 10.22 (kN/m)
B B
- ql T
al” = ql + 9 S o 1022 N/
B 2
1 - T
@ = aqr 2 o 1022 N/
B 2
T -
gl : BOX
gr :© BOX
ql’
qr’

FORUMS8
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1.2.4 (case-2)
2

)

10. OOKN/m=

o
o]
o8]
™
Elpa——— N\ 1E
=l £
=l |E
=l | E
=f 'E
=l e
=l 1=
=l '
=l 1=
=l e
=l e
=l E
= I ——— =
@
[ CASE-1 ]
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
[ CASE-2 ]
p = Kox wl = 0.300 x 10.00 = 3.00 (kN/m?)
@
[ CASE-1 ]
p = Kox wl = 0.500 x 10.00 = 5.00 (kN/m?)
[ CASE-2 ]
p = Kox wl = 0.300 x 10.00 = 3.00 (kN/m?)
[ CASE-1 ]
H y M
(kN/m) (m) (kN_m/m)
28.50 2.850 81.22
-28.50 2.850 -81.22
0.00

FORUMS8
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[ CASE-2 ]
H y M
(kN/m) (m) (kN.m/m)
17.10 | 2.850 48.73
117.10 | 2.850 _48.73
0.00
[ CASE-1 ]
(€H)
6 X M
ql = =+ ( ———gg—fi ) X 0.800 =  0.00 (kN/n)
ar = 0.00 (kN/n)
~ql T
al’ =gl + T o 0,00 KN/mD)
B 2
1- T
= aqr T = 0,00 KN/
B 2
.
gl BOX
qr BOX
ql’
qr’
[ CASE-2 ]
(€H)
6 X M
ql = =+ ( ———gg—fi X 0.800 =  0.00 (kN/m)
ar = 0.00 (kN/n)
~ql T
al’ =gl + T o 0,00 KN/mD)
B 2
1- T
= aqr b T o 0,00 N/
B 2
.
gl BOX
qr BOX
ql’
qr’

FORUMS8
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1.3

No
1 -1 [CASE-1]

2 -1 -1 [CASE-1]

3 -1 -2 [CASE-1]
4 -1 [CASE-2]

-1 -1 [CASE-2]

6 -1 -2 [CASE-2]

FORUMS8



- 15 -

1.4
1.4.1

1.4.2

1 2 3 4 5
6 9
7 10
8 11
12 13 14 15 16

No X(m) Y(m)

1 0.000 5.350

2 0.300 5.350

3 2.675 5.350

4 5.050 5.350

5.350 5.350

6 0.000 5.050

7 0.000 2.675

8 0.000 0.300

9 5.350 5.050

10 5.350 2.675

11 5.350 0.300

12 0.000 0.000

13 0.300 0.000

14 2.675 0.000

15 5.050 0.000

16 5.350 0.000

FORUMS8




- 16 -

1.4.3

1.4.4

1.4.5

A=1.0x
I =1.0 x /12
No A(m") I(m")
1 1 2
2 2 3 0.3500 0.0036
3 3 4 0.3500 0.0036
4 4 5
5 1 6
6 6 7 0.3500 0.0036
7 7 8 0.3500 0.0036
8 8 12
9 5 9
10 9 10 0.3500 0.0036
11 10 11 0.3500 0.0036
12 11 16
13 12 13
14 13 14 0.3500 0.0036
15 14 15 0.3500 0.0036
16 15 16
E =2.80 x 10" (kN/m?)
=1.00 x 10° (1/ )
@ 1
(kN/m) (kN/m) | (kN.m/rad)
12 -1 -1 0
14 0 0 0
16 0 -1 0
) -1 , 0:
) 2
(kN/m) (kN/m) | (kN.m/rad)
12 0 -1 0
14 0 0 0
16 -1 -1 0
) -1 , 0:

FORUMS8




- 17 -

(©))

CASE CASE

1 -1 1

2 -1 -1 1

3 1 =2 1

4 -1 [CASE-2] 1

-1 -1 [CASE-2] 1

6 -1 -2 [CASE-2] 1

FORUMS8
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1.5

<t
Lo~
S
3
| o]
//7//// S
| ap]
¥ '801— , , T 2PT-
m.@m//// =
G-zs | -1 0769
m.@mM\&W Nz
7 '801— , : _ T 2%T—
| Te) |
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@]
o ? 4
% )
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% ¢ ®
I~
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R

s %ot [
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S

7.7

mige

FORUMS8
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—-133.5

-—7 —92.6

/

R
T 79—

06 -

H.wwm\hm
ggel-

H12.

6291
-2 92—

—-133.5

5

12.

—92.

2581

FORUMS8



- 20 -

0 SIT-

0 °'STIT-

6 .N@/

6 .N@\

—-115.0

69. 5

//

1 41.7

—-115.0

5\x

—69.

41.7

2

—85.
—-1563. 7

i

FORUMS8
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<
o -
[
0 M
&
|
|
L

—-83.7

—122.5

G '¢cl—

¥ 98-
€ TeE—

e .wm\
¥ 98—

-9 25—

—86. 4

79:4

R

s HgP MHJ],/

\\\\\

mige

FORUMS8



- 22 -

€ eel—

[t

I°cv—~

-9 To-

€ 6IL1

%ﬁml
€ 'eel—

SITI-

T

|

|

|
©
I~
ki

-111.5

—27. 4

2581

FORUMS8



- 23 -

—90. 3
F——/ —64. 2

- \—84. 2

—126. 4

€ 06—

€ '8E-X

€ '8¢—
€ 06—

v 9cI—
-9 99—

WV/MLWmI
¥ ocl—

—90. 3

—64. 2 \-—

8gWL— ¥

g %gP o]

mige

FORUMS8
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1.6
1.6.1

M kN.m -64.1 112.2 -64.1

N kN 90.9 53.2 90.9
b cm 100.00 100.00 100.00
h cm 35.00 35.00 35.00
d cm 25.00 25.00 25.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 12.92 0.00 12.92

o’ 0.00 27.40 0.00

D19 @150 D— 0— D19 @150

cm’ D— @—— D— @— D— @——

19.100 —_— 19.100

D— @0— D25 @150 D— 0—

e’ D—@¢— | D—@— | D—O—
E— 33.780 E—

X cm 10.650 12.050 10.650
oc N/mm? 6.21 9.19 6.21
os N/mm’ 125.51 148.16 125.51
o ca N/mm’ 10.00 10.00 10.00
o sa N/mm’ 180.00 180.00 180.00

_— — 2 5 2

FORUMS8




- 25 -

M kN.m -92.6 -27.4 41.7 -96.6

N kN 159.2 179.2 142.8 197.0
b cm 100.00 100.00 100.00 100.00
h cm 35.00 35.00 35.00 35.00
d cm 25.00 25.00 25.00 25.00
di cm 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 18.35 0.11 7.10 18.17
cm’ 6.36 0.07 4.92 6.30
D19 @150 D19 @300 D19 @300 D19 @150

cm’ b—@— | D—@—| D—@—| D—@—
19.100 9.550 9.550 19.100
D16 @300 D16 @300 D16 @300 D16 @300

cm’ b—@— | D—@¢—| D—@¢—| D—@—
6.620 6.620 6.620 6.620
X cm 10.869 14.759 9.084 11.158
gc N/mm? 8.90 2.67 5.37 9.26
gs N/mm? 173.66 27.81 141.16 172.24
o ca N/mm? 10.00 10.00 10.00 10.00
0 sa N/mm? 180.00 180.00 180.00 180.00

—_— | — 2 5 3 2

FORUMS8



- 26 -

M kN.m -92.6 -27.4 41.7 -96.6

N kN 159.2 179.2 142.8 197.0
b cm 100.00 100.00 100.00 100.00
h cm 35.00 35.00 35.00 35.00
d cm 25.00 25.00 25.00 25.00
di cm 10.00 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 18.35 0.11 7.10 18.17
cm’ 6.36 0.07 4.92 6.30
D19 @150 D19 @300 D19 @300 D19 @150

cm’ b—@— | D—@—| D—@—| D—@—
19.100 9.550 9.550 19.100
D16 @300 D16 @300 D16 @300 D16 @300

cm’ b—@— | D—@¢—| D—@¢—| D—@—
6.620 6.620 6.620 6.620
X cm 10.869 14.759 9.084 11.158
gc N/mm? 8.90 2.67 5.37 9.26
gs N/mm? 173.66 27.81 141.16 172.24
o ca N/mm? 10.00 10.00 10.00 10.00
0 sa N/mm? 180.00 180.00 180.00 180.00

—_— | — 2 5 3 2

FORUMS8



- 27 -

M kN.m -83.8 119.3 -83.8

N kN 161.4 88.6 161.4
b cm 100.00 100.00 100.00
h cm 35.00 35.00 35.00
d cm 25.00 25.00 25.00
di cm 10.00 10.00 10.00
d2 cm 10.00 10.00 10.00
cm’ 15.77 0.00 15.77

o’ 0.00 31.41 0.00

D19 @150 D— 0— D19 @150

cm’ D— @—— D— @— D— @——

19.100 —_— 19.100

D— @0— D25 @150 D— 0—

cn’ D— @0—— D— 00— D— 0——
E— 33.780 E—

X cm 11.131 12.289 11.131
oc N/mm? 8.09 9.80 8.09
gs N/mm’ 151.22 152.12 151.22
o ca N/mm’ 10.00 10.00 10.00
o sa N/mm’ 180.00 180.00 180.00

_— — 3 5 3

FORUMS8



- 28 -

M kN.m -133.5 -133.5 -157.9 -157.9
N kN 176.9 176.9 242.1 242.1
b cm 100.00 100.00 100.00 100.00
h cm 55.96 55.96 55.96 55.96
d cm 45.96 45.96 45.96 45.96
di cm 0.00 0.00 0.00 0.00
d2 cm 10.00 10.00 10.00 10.00
cm’ 12.56 12.56 14.13 14.13
cm’ 5.55 5.55 6.25 6.25
D19 @150 D19 @150 D19 @150 D19 @150

cnt D—@—— | D— @ D— 0@ D— @——
19.100 19.100 19.100 19.100
D13 @150 D13 @150 D13 @150 D13 @150

cm’ D— @ D— @ D— @ D— @—
8.447 8.447 8.447 8.447
X cm 16.661 16.661 17.262 17.262
oc N/mm? 4.66 4.66 5.50 5.50
gs N/mm’ 122.87 122.87 137.21 137.21
o ca N/mm’ 10.00 10.00 10.00 10.00
o sa N/mm? 180.00 180.00 180.00 180.00

—_— | — 2 2 2 2

FORUMS8




- 29 -

1.6.2

S
Tm = b X d Ta
b = 100.0 (cm)
S d Tm T a L
(kN) (cm) (N/mm?) (N/mn?* ) (m
T 134.2 | 25.00 0.537 0.514 5 0.500
1 -134.2 | 25.00 0.537 0.514 5 0.500
T -88.6 | 25.00 0.354 0.526 3 0.500
T 125.3 | 25.00 0.501 0.530 3 0.500
T 88.6 | 25.00 0.354 0.526 3 0.500
T -125.3 | 25.00 0.501 0.530 3 0.500
T -153.6 | 25.00 0.614 0.527 0.500
1 153.6 | 25.00 0.614 0.527 5 0.500
T
L
M N Ac Ic y Mo oN
(kN.m) (kN) (m) (m) (m) (kN.m)
T -38.7 53.2 0.350 0.0036 0.175 3.1| 1.08
T -38.7 53.2 0.350 0.0036 0.175 3.1| 1.08
T -67.3 123.1 0.350 0.0036 0.175 7.2 1.11
T -82.1 160.4 0.350 0.0036 0.175 9.4 | 1.11
T -67.3 123.1 0.350 0.0036 0.175 7.2 1.11
T -82.1 160.4 0.350 0.0036 0.175 9.4 1.11
T -47.7 88.6 0.350 0.0036 0.175 5.2 1.11
T -47.7 88.6 0.350 0.0036 0.175 5.2 1.11
(gm) Ce (pt) Cpt
1 25.00 1.400 0.76 1.358
T 25.00 1.400 0.76 1.358
T 25.00 1.400 0.76 1.358
1 25.00 1.400 0.76 1.358
T 25.00 1.400 0.76 1.358
T 25.00 1.400 0.76 1.358
1 25.00 1.400 0.76 1.358
T 25.00 1.400 0.76 1.358

FORUMS8




- 30 -

Ce X Cpt X CN X rtal

ta @ FEEEAWICTIE

Ce @ M WrE DA EAIZBT 2 HIEREK

Cot @ BISRFTERAN ptIZ B3 2 M EFREL

cal @ Ly U — NOBRTEAN ERILT 558 OTFEE ARSI
CN @ BA WM IS L D RIERREL

Mo
C(N=1+— = 2.0
M

Mo @ HAHAEMINCL D 227 ) — NOISTIENTHMTIERCTE L2 LT E—A 2 K
N Ic

ey

Mo EMWTEICAER T ST E— A 2 B

N EMWTEICAE A T D A

Ie  EAAWTmE ORI 2 i —KE— A 2k

Ac 1 M MTIEIRE

vy ERATWTE ORI L0 B S iRk £ T o B

Mo =

FORUMS8
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1.7
1475 1475
659 659
s N
0 0
0 [}
o} o
™ bl
bl bl
o »
0 0
b bl
1 \_ J
67? 677
1 550 1 550
1.7.1
mm D19 D19 D19 D19 D19 D19 D19 D19
mm | @300 @300 @300 @300 @300 @300 @300 @300
mm | (D19 ) | (D19 ) | (D19 ) | (D19 ) | (D19 ) | (D19 ) | (D19 ) | (D19 )
(1) Lm cm 58.0 58.0 | 109.3 99.6 | 109.3 99.6 65.5 65.5
@d cm 25.0 25.0 25.0 25.0 25.0 25.0 25.0 25.0
(3) Lap cm 57.0 57.0 57.0 57.0 57.0 57.0 57.0 57.0
cm| 140.0 140.0 191.3 181.6 | 191.3 181.6 147.5 | 147.5
Lr cm 7.50 7.50 7.50 7.50 7.50 7.50 7.50 7.50
Le cm | 147.5 147.5 198.8 189.1 198.8 189.1 155.0 | 155.0
Lm
d
Lap 0
M+@+(3)
Lr
Le

FORUMS8
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1.7.2

mm | D25 D25 D25 D25
mm | @300 @300 @®300 @300
mm | (D25 ) | (D25 ) | (D25 ) | (D25 )
(1) Lm cm| 158.4 | 158.4 | 160.2 | 160.2
@d cm 25.0 25.0 25.0 25.0
(3) Lap cm 75.0 75.0 75.0 75.0
cm 58.4 58.4 60.2 60.2
Lr cm 7.50 7.50 7.50 7.50
Le cm 65.9 65.9 67.7 67.7
Lm
d
Lap 0
D-@-G)
Lr
Le

FORUMS8
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1.7.3

(m) (Mﬂm (MJ@ (MZ@ (me

0.300 -51.4 -88.5 73.6 -52.3
0.425 -51.4 -70.9 73.6 -39.3
0.475 -51.4 -64.1 73.6 -34.3
0.500 -51.4 -60.7 73.6 -31.9
0.550 -52.9 -55.6 73.6 -27.0
0.675 -52.9 -44.0 73.6 -15.4
0.800 -52.9 -33.1 73.9 -0.5
0.925 -52.9 -23.0 73.9 14.0
1.050 -52.9 -13.5 73.9 27.5
1.175 -52.9 4.7 73.9 40.1
1.300 -52.9 3.4 73.9 51.6
1.425 -52.9 10.8 73.9 62.1
1.550 -52.9 17.4 73.9 71.6
1.675 -52.9 23.4 73.9 80.1
1.800 -52.9 28.7 73.9 87.6
1.925 -52.9 33.2 73.9 94.2
2.050 -52.9 37.1 73.9 99.7
2.175 -52.9 40.3 73.9 104.2
2.300 -52.9 42.7 73.9 107.7
2.425 -52.9 44.5 73.9 110.2
2.550 -52.9 45.5 73.9 111.7
2.675 -52.9 45.9 73.9 112.2
2.675 -52.9 45.9 73.9 112.2
2.800 -52.9 45.5 73.9 111.7
2.925 -52.9 44.5 73.9 110.2
3.050 -52.9 42.7 73.9 107.7
3.175 -52.9 40.3 73.9 104.2
3.300 -52.9 37.1 73.9 99.7
3.425 -52.9 33.2 73.9 94.2
3.550 -52.9 28.7 73.9 87.6
3.675 -52.9 23.4 73.9 80.1
3.800 -52.9 17.4 73.9 71.6
3.925 -52.9 10.8 73.9 62.1
4.050 -52.9 3.4 73.9 51.6
4.175 -52.9 4.7 73.9 40.1
4.300 -52.9 -13.5 73.9 27.5
4.425 -52.9 -23.0 73.9 14.0
4.550 -52.9 -33.1 73.9 -0.5
4.675 -52.9 -44.0 73.6 -15.4
4.800 -52.9 -55.6 73.6 -27.0
4.850 -51.4 -60.7 73.6 -31.9
4.875 -51.4 -64.1 73.6 -34.3
4.925 -51.4 -70.9 73.6 -39.3
5.050 -51.4 -88.5 73.6 -52.3

FORUMS8
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(m) (Mﬂm (MJQ (Mﬂm (me

0.300 -60.4 -107.1 31.7 71.7
0.425 -60.5 -96.6 31.9 -66.0
0.475 -60.6 -92.6 31.9 -63.7
0.500 -60.6 -90.5 32.0 -62.6
0.550 -60.7 -86.5 32.0 -60.4
0.675 -60.8 -78.4 32.2 -52.3
0.800 -60.9 -73.0 32.3 42.1
0.925 -61.1 -67.8 32.5 -32.4
1.050 -61.2 -62.9 32.6 -23.2
1.175 -61.4 -58.2 32.8 -14.5
1.300 -61.5 -53.9 32.9 6.4
1.425 -61.6 -49.8 33.1 1.2
1.550 -61.8 -46.0 33.2 8.1
1.675 -61.9 -42.6 33.4 14.5
1.800 -62.1 -39.4 33.5 20.3
1.925 -62.2 -36.7 33.7 25.4
2.050 -62.3 -34.2 33.8 29.8
2.175 -62.5 -32.1 34.0 33.6
2.300 -62.6 -30.4 34.1 36.7
2.425 -62.8 -29.1 34.3 39.1
2.550 -62.9 -28.1 34.4 40.7
2.675 -63.1 -27.6 34.6 41.6
2.675 -63.1 -27.6 34.6 41.6
2.800 -63.2 -27.4 34.7 41.7
2.925 -63.3 -27.7 34.9 41.1
3.050 -63.5 -28.5 35.0 39.6
3.175 -63.6 -29.6 35.2 37.3
3.300 -63.8 -31.3 35.3 34.2
3.425 -63.9 -33.4 35.5 30.2
3.550 -64.0 -36.0 35.6 25.3
3.675 -64.2 -39.1 35.8 19.5
3.800 -64.3 -42.6 35.9 12.8
3.925 -64.5 -46.7 36.1 5.2
4.050 -64.6 -51.4 36.2 -3.4
4.175 -64.7 -56.5 36.4 -12.9
4.300 -64.9 -62.2 36.5 -23.5
4.425 -65.0 -68.5 36.7 -35.0
4.550 -65.2 -75.3 36.8 -47.6
4.675 -65.3 -82.8 36.9 -61.2
4.800 -65.4 -90.8 37.1 -75.9
4.850 -65.5 -94.1 37.2 -81.6
4.875 -65.5 -96.6 37.2 -83.7
4.925 -65.6 ~102.3 37.2 -87.4
5.050 -65.7 -117.4 37.4 -97.0

FORUMS8
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(m) (Mﬂm (MJQ (Mﬂm (me

0.300 -60.4 -107.1 31.7 71.7
0.425 -60.5 -96.6 31.9 -66.0
0.475 -60.6 -92.6 31.9 -63.7
0.500 -60.6 -90.5 32.0 -62.6
0.550 -60.7 -86.5 32.0 -60.4
0.675 -60.8 -78.4 32.2 -52.3
0.800 -60.9 -73.0 32.3 42.1
0.925 -61.1 -67.8 32.5 -32.4
1.050 -61.2 -62.9 32.6 -23.2
1.175 -61.4 -58.2 32.8 -14.5
1.300 -61.5 -53.9 32.9 6.4
1.425 -61.6 -49.8 33.1 1.2
1.550 -61.8 -46.0 33.2 8.1
1.675 -61.9 -42.6 33.4 14.5
1.800 -62.1 -39.4 33.5 20.3
1.925 -62.2 -36.7 33.7 25.4
2.050 -62.3 -34.2 33.8 29.8
2.175 -62.5 -32.1 34.0 33.6
2.300 -62.6 -30.4 34.1 36.7
2.425 -62.8 -29.1 34.3 39.1
2.550 -62.9 -28.1 34.4 40.7
2.675 -63.1 -27.6 34.6 41.6
2.675 -63.1 -27.6 34.6 41.6
2.800 -63.2 -27.4 34.7 41.7
2.925 -63.3 -27.7 34.9 41.1
3.050 -63.5 -28.5 35.0 39.6
3.175 -63.6 -29.6 35.2 37.3
3.300 -63.8 -31.3 35.3 34.2
3.425 -63.9 -33.4 35.5 30.2
3.550 -64.0 -36.0 35.6 25.3
3.675 -64.2 -39.1 35.8 19.5
3.800 -64.3 -42.6 35.9 12.8
3.925 -64.5 -46.7 36.1 5.2
4.050 -64.6 -51.4 36.2 -3.4
4.175 -64.7 -56.5 36.4 -12.9
4.300 -64.9 -62.2 36.5 -23.5
4.425 -65.0 -68.5 36.7 -35.0
4.550 -65.2 -75.3 36.8 -47.6
4.675 -65.3 -82.8 36.9 -61.2
4.800 -65.4 -90.8 37.1 -75.9
4.850 -65.5 -94.1 37.2 -81.6
4.875 -65.5 -96.6 37.2 -83.7
4.925 -65.6 ~102.3 37.2 -87.4
5.050 -65.7 -117.4 37.4 -97.0

FORUMS8
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(m) (Mﬂm (MJQ (Mﬂm (me

0.300 -60.9 ~107.9 78.9 -76.7
0.425 -60.9 -90.5 78.9 -59.3
0.475 -60.9 -83.8 78.5 -51.6
0.500 -60.9 -80.5 78.5 -47.7
0.550 -60.9 -74.0 78.5 -40.1
0.675 -60.9 -58.4 78.5 -21.9
0.800 -60.9 -43.8 78.5 4.8
0.925 -60.9 -30.1 78.5 11.2
1.050 -60.9 -17.3 78.5 26.1
1.175 -60.9 -5.5 78.5 39.9
1.300 -60.9 5.3 78.5 52.5
1.425 -60.9 15.2 78.5 64.1
1.550 -60.9 24.2 78.5 74.6
1.675 -60.9 32.2 78.5 84.0
1.800 -60.9 39.3 78.5 92.3
1.925 -60.9 45.4 78.5 99.4
2.050 -60.9 50.6 78.5 105.5
2.175 -60.9 54.9 78.5 110.5
2.300 -60.9 58.2 78.5 114.3
2.425 -60.9 60.5 78.5 117.1
2.550 -60.9 61.9 78.5 118.7
2.675 -60.9 62.4 78.5 119.3
2.675 -60.9 62.4 78.5 119.3
2.800 -60.9 61.9 78.5 118.7
2.925 -60.9 60.5 78.5 117.1
3.050 -60.9 58.2 78.5 114.3
3.175 -60.9 54.9 78.5 110.5
3.300 -60.9 50.6 78.5 105.5
3.425 -60.9 45.4 78.5 99.4
3.550 -60.9 39.3 78.5 92.3
3.675 -60.9 32.2 78.5 84.0
3.800 -60.9 24.2 78.5 74.6
3.925 -60.9 15.2 78.5 64.1
4.050 -60.9 5.3 78.5 52.5
4.175 -60.9 -5.5 78.5 39.9
4.300 -60.9 -17.3 78.5 26.1
4.425 -60.9 -30.1 78.5 11.2
4.550 -60.9 -43.8 78.5 4.8
4.675 -60.9 -58.4 78.5 -21.9
4.800 -60.9 -74.0 78.5 -40.1
4.850 -60.9 -80.5 78.5 -47.7
4.875 -60.9 -83.8 78.5 -51.6
4.925 -60.9 -90.5 78.9 -59.3
5.050 -60.9 ~107.9 78.9 -76.7

FORUMS8
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1.8

Sc=tax bx d

Ta (N/mm?)
b : = 1000 (mm)
d : (mm)
Sc : )
S h=S-Sc
S h: ()
S : )
.15 X S h X a
Awreq =
osa X d X 10
Awreq : (cm?)
a : (cm)
osa : (N/mm?)
1000 (mm) .
p= = - - - (k)
FERABEIRR X R E > F X2
p : 1m
Av = As x nx p
Aw : (cm?)
As : 1 (cm®)
n :1 «C 7))
As n p a Aw
(cm2) «c7) ) (cm) (cm2)
1.267 2 0.833 15.0 2.11
1.267 1 1.667 15.0 2.11
1.267 1 1.667 15.0 2.11
1.267 2 0.833 15.0 2.11
Sc S*h T T a Awreq Aw
(kN) (kN) (N/mm?) | (N/mm?) (cm?) (cm?)
T 128.4 5.8 0.537 0.514 0.22 OK
2.11
T 128.4 5.8 0.537 0.514 0.22 OK
T 0.354 0.526 0.00 —
2.11
T 0.501 0.530 0.00 —
T 0.354 0.526 0.00 —
2.11
T 0.501 0.530 0.00 —
T 131.7 21.8 0.614 0.527 0.84 OK
2.11
T 131.7 21.8 0.614 0.527 0.84 0K

FORUMS8
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1.9
1.9.1

vV X M
(KN/m) | (m) (kN.m/m)
5.700 0.350 24.50 48.88 2.850 139.30
5.000 x 0.350 x 24.50 42.88 | 0.175 7.50
5.000 x 0.350 x 24.50 42.88 | 5.525 236.88
5.700 0.350 24 .50 48.88 2.850 139.30
1/2 x  0.300 x 0.300 x 24.50 1.10 | 0.450 0.50
1/2 x  0.300 x 0.300 x 24.50 1.10 | 5.250 5.79
1/2 x 0.300 0.300 24.50 1.10 0.450 0.50
1/2 x  0.300 x 0.300 x 24.50 1.10 | 5.250 5.79
187.91 | —— 535.56
€))
= 0.000 (kN/m?)
= 0.000 (kN/m?)
= 0.000 (kN/m?)
qd =  0.000 (kN/m?)
@
a
= 1.064 x 0.000 x 22.50 = 0.00 (kN/m?)
= 1.064 x 1.800 x 19.00 = 36.39 (kN/m?)
= 36.39 (kN/m%)
(©))
V=1o( 0,000+ 36.39) X 5.700= 207.416 (kN/m)
5. 700
X = = 2.850 (m)
M=VXX= 591 14 (kN.m/m)
(1) [ CASE-1 ]
Ko = 0.500
Ko = 0.500

FORUMS8
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(2) [ CASE-2 ]

Ko = 0.300
Ko = 0.300
1) [ case-11]
= 0.000 (m)

(1) [ CASE-1 ]

1) [ case-1 ]
\% H M
(KN/m) (KN/m) (KN.m/m)
187.91 E— 535.56
207.42 E— 591.14
395.33 0.00 1126.69
(2) [ CASE-2 ]
1) [ case-1 ]
V H M
(KN/m) (KN/m) (KN.m/m)
187.91 E— 535.56
207.42 E— 591.14
395.33 0.00 1126.69

FORUMS8
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1.9.2
(1) T-250 2
[1]
D
v X M
(kN/m) (m) | (kN.m/m)
19.15 x  3.800 72.79 2.850 207.44
5.32 x 0.000 0.00 0.000 0.00
72.79 — 207.44
2)
p = 0.500 x 0.00 = 0.00 (kN/m*)
p = 0.500 x 0.00 = 0.00 (kN/m?)
H Y M
(KN/m) m) | (kN.m/m)
0.00 x 5.700 0.00 2.850 0.00
0.00 x 5.700 0.00 2.850 0.00
0.00 — 0.00
3)
\ H M
(kN/m) (kN/m) | (kN.m/m)
72.79 207.44
— 0.00 0.00
72.79 0.00 207.44
®
[2]
D
[ CASE-1 ]
[ CASE-2 ]
1.9.3
D @
\ H M
(kN/m) (kN/m) (KN.m/m)
[ case-1] 395.33 0.00 1126.69
395.33 0.00 1126.69

FORUMS8
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= qa=300.0 (kN/m")

X=——= 2.80 (m
SV (m)
B
e= 5 X= 0.000 (m)
Me =%V e= 0.00 (KN.m/m)
Y 6 X Me
a= 5 =+ 5 = 69.36 (kN/m?)
= 69.36 (kN/m’)
(2 -1 -1
v H M
(kN/m) (kN/m) (KN.m/m)
[ case-1 ] 395.33 0.00 1126.69
[1] 72.79 0.00 207.44
468.12 0.00 1334.13

* B/ OYERNLE R & O Lo ERHE

M
X=——7= 2850 (m
PIRY
B
e=—-X= 0.000 (m
2
Me =XV x e= 0.00 (kN.m/m)
AR
Y 6 X Me
a= = — = 8213 (kN/m) =
= 82.13 (kN/m")
(3 (1)CASE-2
v H M
(kN/m) (kN/m) (kN.m/m)
[ case-1 ] 395.33 0.00 1126.69
395.33 0.00 1126.69
=M
X=—= 2850 (m
Y
B
e:E_X: 0.000 (m)

qa=300.0 (kN/m%)

OK

OK

FORUMS8
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4

1.9.4

Me =%V x ex= 0.00 (KN.m/m)
Y 6 X M
Q= E = 69.36 (N/m) = qa=300.0 (N/m’)  OK
= 69. 36 (kN/m%)
-1 -1CASE-2
v H M
(kN/m) (kN/m) (KN.m/m)
[ case-1 ] 395.33 0.00 1126.69
[11] 72.79 0.00 207.44
468.12 0.00 1334.13
- B OVERALE S I OMR O R
=M
X=—7= 22850 (m
Y
B
e=——-X= 0.000 (m
2
Me =2V x e= 0.00 (KN.m/m)
AR
Y 6 X M
q = 5 + 5 c = 82.13 (kN/m») = qa=300.0 (kN/m") OK
= 82.13 (kN/m")
ga = 300.0 (kN/m%)
(KN/m?)
No
vV (kN) H (kN) M(KN.m) e (m gmax gmin
1 (¢H) 395.3 0.0 0.0 0.000 69.356 69.356 | OK
2 -1 -1 468.1 0.0 0.0 0.000 82.126 82.126 | OK
3 (1)CASE-2 395.3 0.0 0.0 0.000 69.356 69.356 | OK
4 -1 -1CASE-2 468.1 0.0 0.0 0.000 82.126 82.126 | OK

FORUMS8
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2
2.1
@
o)
o i)
(@) [38)
)
300
) )
) o
) ~
0 0
30p
)
Q o
o )
AN
350 5 000 350
5 700
2610 4 780 2610
q=10. 00
=T
)
<t
N
o)
)
™~
0
Kv=47348. 0O
10 000
10 000
@
y = 19.00 (kN/m%)
No X (m) Y (m)
1 0.000 0.000
2 2.610 1.450
3 7.390 1.450
4 10.000 0.000

FORUMS8
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©)
o ck | N/mm? 30.00
Ec | N/mm? 2.80x 10
o ca | N/mm? 10.00
— SD345
o sa | N/mm? 180.00
n e 15.0
1.000
y ¢ | kN/m® 24.50
2.2
A(m) y(m) A y(m) A Y@ lo(n")
1.9950 | 5.5250 11.0224 60.8986 0.0204
1.9950 | 0.1750 0.3491 0.0611 0.0204
1.7500 | 2.8500 4.9875 14.2144 3.6458
1.7500 | 2.8500 4.9875 14.2144 3.6458
0.0900 | 5.2500 0.4725 2.4806 0.0005
0.0900 | 0.4500 0.0405 0.0182 0.0005
7.6700 | —— 21.8595 91.8873 7.3333
Wrimfg XA = 7.6700 (m?)
Wi —kE— A > |k
Yo = 20y = 2.850 (m)
A
I =X@A-y)+ZTo—VYels ZA = 36.9210 (m*)
2.3
@
A= 7.6700 (m°)
wW=A yc= 7.6700x 24.50 = 187.92 (kN/m)
@
(m) ) (kN/m) (kN/m)
1 0.000 2.610 0.00 157.04
2 2.610 4.780 157.04 157.04
3 7.390 2.610 157.04 0.00

FORUMS8
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®
Q=9 B =10.00x 5.700 = 57.00 (kN/m)
q (kN/m?)
B BOX m
Ls = 4.780 (m)
= 1.450 (m)
= 1.450 (m)
L= 7.680 (m)
O Q- < = 95,48 (/m)
( ) = 1.160 (m)
2.4
@
M (kN.m) (m
Mmax Mmin Mmax Mmin
1 412.2 0.0 5.000 0.000
@
S (kN) (m
Smax Smin Smax Smin
1 136.3 -136.3 2.000 8.000
®
1
M S
(m) (kN.m) (kN)
0.000 0.0 0.0
1.000 61.1 113.1
2.000 193.2 136.3
3.000 313.9 98.3
4.000 387.6 49.2
5.000 412.2 0.0
6.000 387.6 -49.2
7.000 313.9 -98.3
8.000 193.2 -136.3
9.000 61.1 -113.1
10.000 0.0 0.0

FORUMS8
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2.5

2.5.1

412.

2.5.2

3

—136.

FORUMS8
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2.6
€Y
Mmax
BOX BW cm 570.0
BOX BH cm 570.0
cm 35.0
cm 35.0
cm 35.0
cm 35.0
cm 30.0
cm 30.0
cm 30.0
cm 30.0
M kN.m 412.2
di cm 10.0
D16- 19
Asl cm’ 37.734
d2 cm 10.0
D16- 21
As2 cm’ 41.706
d3 cm 10.0
D16- 21
As3 cm’ 41.706
d4 cm 10.0
D16- 19
As4 cm’? 37.734
X cm 45.940
n — 15.0
gc N/mm? 0.06
os N/mm? 9.79
oca| N/mn 10.00
osa| N/mm 180.00

FORUMS8




- 48 -

3
3.1
3.1.1
(€D)
5 250 |
: M——
S |
- i /—
|
|
|
|
|
|
3 y‘? | 2
|
3 ‘5 ! 3
o <
© 8 OO i o
10 |
|
|
|
|
L
I
5 000 J5L
(@)
2610 1750 1750 1750
1 OOT 1 OOT 1 OOT
///////,__m nn noa o
o
[Eo]
<
DY 1:1. 800
A

T

250 (kN) 3

45
2
10

00 C)
5.0 (kN)
0.0 (kN)
6.000 (m)

FORUMS8




- 49 -

“)
o ck | N/mm’ 30.00
Ec | N/mm’ 2.80x 10
o ca | N/mm’ 10.00
— SD345
o sa | N/mm’ 180.00
n —_— 15.0
90.0000
Yy kN/m* 19.00
® 30.0
3.1.2
@
t
Pah = AW« an
l1+tand * tanf
B=— — 05—
¢
§ = o 10.00 (FE)
Pah (kN)
AW (kN)
0s ()
0] =30.0 C )
) )
SD = % (Pahi)
MD = Z (Pahi Li)
SD (kN)
MD
Li i
1
SD = 286.22 (kN)
MD =  437.15 (kN.m)
2)
SD = 343.16 (kN)
MD = 563.24 (kN.m)

(kN.m)
(m

FORUMS8
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D

2)

AW Pah L Pah L
(m (m ¢) | m (k) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27 | 4.600 19.64
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94 | 4.100 |  32.57
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 3.600 |  45.05
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.100 |  55.59
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 2.600 |  62.76
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.100 |  65.36
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 1.600 |  62.19
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.100 |  52.08
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 0.600 |  33.95
4.850 0.350 | 35.0 | 5.675| 105.61| 45.50 | 0.175 7.96
AW Pah L Pah L
(m) (m) ) | (m (kN) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27| 5.000 | 21.35
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94| 4.500 | 35.74
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 4.000 |  50.06
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.500 |  62.76
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 3.000 |  72.42
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.500 |  77.81
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 2.000 |  77.73
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.500 |  71.02
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 1.000 |  56.59
5.000 0.500 | 35.0 | 5.750 | 154.44 |  66.55| 0.500 |  33.27
5.250 0.250 | 35.0 | 6.000 | 83.31| 35.90| 0.125 4.49

FORUMS8
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®
L= —— .k
b a*b
K = tan’ (== — -2 = 0.3333
4 2
v2
sL = | (pL+LB-dy)
vl
ol = jf(pL 1B+ Lx + dy)
y (m
pL vy (kN/m?)
T (kN)
y (m
ao
a:DL-i-e-i-?-i- (D 4+ v)-tanh
DL = 2.610 (m)
e = 1.000 (m)
ao = 0.500 (m)
= 0.125 (m)
D = 1.450 (m)
0 =450 ()
by (m
b = bo 2 (D y ) tanf
bo = 0.200 (m)
K = 0.333
® =30.0 ()
LBy (m
Lx 'y (m
sL (kN)
mL (kN.m)
D
1.850 (m)
sL = = (sLi) = 5.90 (kN)
mL = X (mLi) = 7.56 (kN.m)
2)
1.850 (m)
sL = ¥ (sLi) = 7.22 (kN)
mL = = (mLi) =  10.18 (kN.m)
D
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 100.0 1.910 4.78 6.79
T21 25.0 2.097 0.00 0.00

FORUMS8




- B2 -

T yl sL mL
(kN) (m) (kN) (kN.m)
T12 100.0 3.660 0.90 0.68
T22 25.0 3.847 0.00 0.00
T13 100.0 4.660 0.21 0.09
T23 25.0 4.847 0.00 0.00
T14 100.0 6.410 0.00 0.00
T24 25.0 6.597 0.00 0.00
T15 100.0 7.410 0.00 0.00
T25 25.0 7.597 0.00 0.00
T16 100.0 9.160 0.00 0.00
T26 25.0 9.347 0.00 0.00
2)
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 100.0 1.910 5.63 8.87
T21 25.0 2.097 0.00 0.00
T12 100.0 3.660 1.23 1.11
T22 25.0 3.847 0.00 0.00
T13 100.0 4.660 0.36 0.20
T23 25.0 4.847 0.00 0.00
T14 100.0 6.410 0.00 0.00
T24 25.0 6.597 0.00 0.00
T15 100.0 7.410 0.00 0.00
T25 25.0 7.597 0.00 0.00
T16 100.0 9.160 0.00 0.00
T26 25.0 9.347 0.00 0.00
©)
1
= W . = 96,15 (kN.m/m)
SA = % o’ = 6316 (kN.m/m)
MA (kN.m/m)
SA (kN/m)
hA = 5.550 (m)
= 1.200
' = 1.200

FORUMS8




- B3 -

2)
MD + ML
= —* @ = 120.72 (kN.m/m)
hA
SD + SL
SA= ——« o’ = 73.77 kN.m/m)
hA
MA (kN.m/m)
SA (kN/m)
hA = 5.700 (m)
a = 1.200
a’ = 1.200
3.1.3
M KkN.m 96.2
S kN 63.2
b cm 100.00
h cm 40.00
dl cm 10.00
d2 cm 10.00
n — 15.0
Asr cm’ 20.234
mm D22 @150
D— @ —
As cm’ 25.807
mm D— @ —
D— @ —
As cm’ e
p —_— 0.00860
K — 0.395
C —_— 5.829
S —_— 8.921
X cm 11.855
ogc N/mm? 6.23
gs N/mm? 143.02
T N/mm? 0.211
oca| N/mn 10.00
osa| N/mn 180.00
Ta N/mm? 0.496
Ce —_— 1.400
cpt | —— 1.416

FORUMS8
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3.1.4
M=M S
M (kN.m/m)
W (kN_.m/m)
S’ (kN)
L (m
€))
M= 120.72 73.77 0.175 = 133.63 (kN.m/m)
M kN.m 133.6
b cm 100.00
h cm 54.30
d cm 4430
Z cm 38.800
n — 15.0
Asr cm’ 18.604
mm D19 @150
D— @ —
As cm’ 19.100
p — 0.00431
K —_— 0.301
C —_— 7.391
S — 17.185
X cm 13.323
gc N/mm? 5.03
os N/mm? 175.52
oca | N/mn 10.00
o sa| N/mn 180.00
3.1.5
)
€Y
b cm 100.00
h cm 40.00
d cm 30.00
n —_— 15.0
mm D22 @300
As cm’? 12.903
oca| N/mn 10.00
osa| N/mm 180.00
Mr kN.m 62.7

FORUMS8
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@
L m 1.202
hA m 4.816
MD kN.m 247.63
ML kN.m 3.78
M kN.m 251.41
MA | kN.m/m 62.64
SD kN 189.13
SL kN 3.63
S kN 192.75
SA kN/m 48.02
©)
D22
Lo = 0.660 (m)
L =L Lo = 1.862 (m)
3.1.6
@
M=M
N= § sinf
M (kN.m/m)
N (kN/m)
M (kN.m/m)
S’ (kN/m)
0 = 90.0000 ( )
' (kN.m/m) 120.72
s (KN/m) 73.77
M (kN.m/m) 120.72
N (kN/m) -73.77
@
(cn) * () (mm) (cm)
10.00 D19 D16 @300 D32 @150 12.07
10.00 D16 D16 @300 — 8.40

*%x

FORUMS8
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®

M KkN.m 120.7
N kN -73.8
b cm 100.00
h cm 35.00
di cm 8.25
d1- cm 12.55
d2 cm 8.40
n — 15.0
Asr cm? 51.841
mm D16 @300
D32 @150
As cm’ 59.567
mm D16 @300
As cm’ 6.620
p — 0.02598
K — 0.548
C —_— 4.293
S —_— 3.546
X cm 12.557
gc N/mm? 9.53
gs N/mm? 161.62
oca| N/mn 10.00
osa| N/mn 180.00

di
di-

FORUMS8
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5 250
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.
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FORUMS8

)
(kN)

(kN)
6.000 (m)

(

= 45.0
25.0
= 100.0

250 (kN) 3

T
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“)
o ck | N/mm’ 30.00
Ec | N/mm’ 2.80x 10
o ca | N/mm’ 10.00
— SD345
o sa | N/mm’ 180.00
n —_— 15.0
90.0000
Yy kN/m* 19.00
® 30.0
3.2.2
@
t
Pah = AW« an
l1+tand * tanf
B=— — 05—
¢
§ = o 10.00 (FE)
Pah (kN)
AW (kN)
0s ()
0] =30.0 C )
) )
SD = % (Pahi)
MD = Z (Pahi Li)
SD (kN)
MD
Li i
1
SD = 286.22 (kN)
MD =  437.15 (kN.m)
2)
SD = 343.16 (kN)
MD = 563.24 (kN.m)

(kN.m)
(m

FORUMS8
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D

2)

AW Pah L Pah L
(m (m ¢) | m (k) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27 | 4.600 19.64
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94 | 4.100 |  32.57
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 3.600 |  45.05
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.100 |  55.59
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 2.600 |  62.76
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.100 |  65.36
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 1.600 |  62.19
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.100 |  52.08
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 0.600 |  33.95
4.850 0.350 | 35.0 | 5.675| 105.61| 45.50 | 0.175 7.96
AW Pah L Pah L
(m) (m) ) | (m (kN) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27| 5.000 | 21.35
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94| 4.500 | 35.74
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 4.000 |  50.06
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.500 |  62.76
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 3.000 |  72.42
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.500 |  77.81
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 2.000 |  77.73
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.500 |  71.02
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 1.000 |  56.59
5.000 0.500 | 35.0 | 5.750 | 154.44 |  66.55| 0.500 |  33.27
5.250 0.250 | 35.0 | 6.000 | 83.31| 35.90| 0.125 4.49

FORUMS8
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@
L= —— .k
b a*b
K = tan’ (== — -2 = 0.3333
4 2
v2
sL = | (pL+LB-dy)
vl
ol = jf(pL 1B+ Lx + dy)
y (m
pL vy (kN/m?)
T (kN)
y (m
ao
a:DL-i-e-i-?-i- (D 4+ v)-tanh
DL = 2.610 (m)
e = 1.000 (m)
ao = 0.125 (m)
= 0.500 (m)
D = 1.450 (m)
3] =45.0 ()
by (m)
b = bo 2 (D y ) tanf
bo = 0.200 (m)
K = 0.333
® =30.0 ()
LBy (m
Lx 'y (m
sL (kN)
mL (kN.m)
D
-4.150 (m)
sL = = (sLi) = 5.90 (kN)
mL = X (mLi) = 7.56 (kN.m)
2)
-4.150 (m)
sL = 5 (sLi) = 7.22 (kN)
mL = = (mLi) =  10.18 (kN.m)
1
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 25.0 2.097 0.00 0.00
T21 100.0 1.910 4.78 6.79

FORUMS8
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T yl sL mL
(kN) (m) (kN) (kN.m)
T12 25.0 3.847 0.00 0.00
T22 100.0 3.660 0.90 0.68
T13 25.0 4.847 0.00 0.00
T23 100.0 4.660 0.21 0.09
T14 25.0 6.597 0.00 0.00
T24 100.0 6.410 0.00 0.00
T15 25.0 7.597 0.00 0.00
T25 100.0 7.410 0.00 0.00
T16 25.0 9.347 0.00 0.00
T26 100.0 9.160 0.00 0.00
2)
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 25.0 2.097 0.00 0.00
T21 100.0 1.910 5.63 8.87
T12 25.0 3.847 0.00 0.00
T22 100.0 3.660 1.23 1.11
T13 25.0 4.847 0.00 0.00
T23 100.0 4.660 0.36 0.20
T14 25.0 6.597 0.00 0.00
T24 100.0 6.410 0.00 0.00
T15 25.0 7.597 0.00 0.00
T25 100.0 7.410 0.00 0.00
T16 25.0 9.347 0.00 0.00
T26 100.0 9.160 0.00 0.00
©)
1
= W . = 96,15 (kN.m/m)
SA = % o’ = 6316 (kN.m/m)
MA (kN.m/m)
SA (kN/m)
hA = 5.550 (m)
= 1.200
' = 1.200

FORUMS8
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2)
MD + ML
= —* @ = 120.72 (kN.m/m)
hA
SD + SL
SA= ——« o’ = 73.77 kN.m/m)
hA
MA (kN.m/m)
SA (kN/m)
hA = 5.700 (m)
a = 1.200
a’ = 1.200
3.2.3
M KkN.m 96.2
S kN 63.2
b cm 100.00
h cm 40.00
dl cm 10.00
d2 cm 10.00
n — 15.0
Asr cm’ 20.234
mm D22 @150
D— @ —
As cm’ 25.807
mm D— @ —
D— @ —
As cm’ e
p —_— 0.00860
K — 0.395
C —_— 5.829
S —_— 8.921
X cm 11.855
ogc N/mm? 6.23
gs N/mm? 143.02
T N/mm? 0.211
oca| N/mn 10.00
osa| N/mn 180.00
Ta N/mm? 0.496
Ce —_— 1.400
cpt | —— 1.416

FORUMS8
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3.2.4
M=M S
M (kN.m/m)
W (kN_.m/m)
S’ (kN)
L (m
€))
M= 120.72 73.77 0.175 = 133.63 (kN.m/m)
M kN.m 133.6
b cm 100.00
h cm 54.30
d cm 4430
Z cm 38.800
n — 15.0
Asr cm’ 18.604
mm D19 @150
D— @ —
As cm’ 19.100
p — 0.00431
K —_— 0.301
C —_— 7.391
S — 17.185
X cm 13.323
gc N/mm? 5.03
os N/mm? 175.52
oca | N/mn 10.00
o sa| N/mn 180.00
3.2.5
)
€Y
b cm 100.00
h cm 40.00
d cm 30.00
n —_— 15.0
mm D22 @300
As cm’? 12.903
oca| N/mn 10.00
osa| N/mm 180.00
Mr kN.m 62.7

FORUMS8




- 64 -

@
L m 1.202
hA m 4.816
MD kN.m 247.63
ML kN.m 3.78
M kN.m 251.41
MA | kN.m/m 62.64
SD kN 189.13
SL kN 3.63
S kN 192.75
SA kN/m 48.02
©)
D22
Lo = 0.660 (m)
L =L Lo = 1.862 (m)
3.2.6
@
M=M
N= § sinf
M (kN.m/m)
N (kN/m)
M (kN.m/m)
S’ (kN/m)
0 = 90.0000 ( )
' (kN.m/m) 120.72
s (KN/m) 73.77
M (kN.m/m) 120.72
N (kN/m) -73.77
@
(cn) * () (mm) (cm)
10.00 D19 D16 @300 D32 @150 12.07
10.00 D16 D16 @300 — 8.40

*%x

FORUMS8
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®

M KkN.m 120.7
N kN -73.8
b cm 100.00
h cm 35.00
di cm 8.25
d1- cm 12.55
d2 cm 8.40
n — 15.0
Asr cm? 51.841
mm D16 @300
D32 @150
As cm’ 59.567
mm D16 @300
As cm’ 6.620
p — 0.02598
K — 0.548
C —_— 4.293
S —_— 3.546
X cm 12.557
gc N/mm? 9.53
gs N/mm? 161.62
oca| N/mn 10.00
osa| N/mn 180.00

di
di-

FORUMS8
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3.3
3.3.1

3.3.2
o

1000 1750 1000 1750 1000

1750

2610

1
(N S ) I

!
1

tan f3
Pah = W -
1 + tand - tanf
o =%= 10.00 ()
B = % - b0s- ¢
Pah : (kN/m)
W (kN/m)
0s: ()
¢ : =30.0 ( )
o : )
W Pah
() (m) (kN/my | (kN/m)
52.0 0.300 3.79 0.52
SD = Pah
MD = 1/3 Pah h
SD : (kN/m)
MD : (kN.m/m)
h : (m)
SD = 0.52 (kN/m)
MD = 0.05 (kN.m/m)

FORUMS8
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@

®

L= — K
b ay * by
K = tan’|— - J?— = 0.3333
4 2
v2
sL = fylpL +dy
v2
ml = prL «th -y +dy
y (m
pL vy
T : (kN)
ay : vy
ao
ay=NL+LP+?+NH+y
NL :
LP :
ao :
NH :
by 1y (m
by =bo +2 (NH +vy)
bo :
K
¢ : =30.0 € )
sL :
mL :
SL = ¥ (sLi) = 0.00 (kN/m)
ML = ~ (mLi) = 0.00 (kN.m/m)
T yl sL mL
kN | (kN/m) (kN.m/m)
T11 100.0 0.000 0.00 0.00
T12 | 100.0 0.000 0.00 0.00
T13 | 100.0 0.000 0.00 0.00
T14 100.0 0.000 0.00 0.00
T15 | 100.0 0.000 0.00 0.00
T16 | 100.0 0.000 0.00 0.00
S=8SD+SL = 0.52 (kN/m)
M=MD+ ML = 0.05 (kN.m/m)

(KN/m?)

(m

2.610 (m)
1.000 (m)
0.500 (m)
1.450 (m)

0.200 (m)

(kN/m)
(kN.m/m)

FORUMS8
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3.3.3

M kN._m 0.05
S kN 0.52
b cm 100.00
h cm 40.00
d cm 30.00
n — 15.0
Asr cm’ 0.010
mm D13 @300
D— @ —
As cm? 4.223
p — 0.00141
K — 0.186
C — 11.490
S — 50.433
X cm 5.566
oc N/mm? 0.01
s N/mm? 0.44
T N/mm’ 0.002
oca | N/mm’ 10.00
osa | N/mm? 180.00
Ta N/mm? 0.274
Ce — 1.400
Cpt | — 0.782

FORUMS8
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4
4.1
4.1.1
(€D)
5 250 |
)
: M——
S |
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5 000 J5L
(@)
2610 1750 1750 1750
1 OOT 1 OOT 1 OOT
///////,__m nn noa o
o
[Eo]
<
DY 1:1. 800
A

T

250 (kN) 3

45
2
10

00 C)
5.0 (kN)
0.0 (kN)
6.000 (m)

FORUMS8
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“)
o ck | N/mm’ 30.00
Ec | N/mm’ 2.80x 10
o ca | N/mm’ 10.00
— SD345
o sa | N/mm’ 180.00
n —_— 15.0
90.0000
Yy kN/m* 19.00
® 30.0
4.1.2
@
t
Pah = AW« an
l1+tand * tanf
B=— — 05—
¢
§ = o 10.00 (FE)
Pah (kN)
AW (kN)
0s ()
0] =30.0 C )
) )
SD = % (Pahi)
MD = Z (Pahi Li)
SD (kN)
MD
Li i
1
SD = 286.22 (kN)
MD =  437.15 (kN.m)
2)
SD = 343.16 (kN)
MD = 563.24 (kN.m)

(kN.m)
(m

FORUMS8
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D

2)

AW Pah L Pah L
(m (m ¢) | m (k) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27 | 4.600 19.64
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94 | 4.100 |  32.57
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 3.600 |  45.05
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.100 |  55.59
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 2.600 |  62.76
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.100 |  65.36
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 1.600 |  62.19
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.100 |  52.08
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 0.600 |  33.95
4.850 0.350 | 35.0 | 5.675| 105.61| 45.50 | 0.175 7.96
AW Pah L Pah L
(m) (m) ) | (m (kN) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27| 5.000 | 21.35
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94| 4.500 | 35.74
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 4.000 |  50.06
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.500 |  62.76
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 3.000 |  72.42
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.500 |  77.81
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 2.000 |  77.73
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.500 |  71.02
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 1.000 |  56.59
5.000 0.500 | 35.0 | 5.750 | 154.44 |  66.55| 0.500 |  33.27
5.250 0.250 | 35.0 | 6.000 | 83.31| 35.90| 0.125 4.49

FORUMS8
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®
L= —— .k
b a*b
K = tan’ (== — -2 = 0.3333
4 2
v2
sL = | (pL+LB-dy)
vl
ol = jf(pL 1B+ Lx + dy)
y (m
pL vy (kN/m?)
T (kN)
y (m
ao
a:DL-i-e-i-?-i- (D 4+ v)-tanh
DL = 2.610 (m)
e = 1.000 (m)
ao = 0.500 (m)
= 0.125 (m)
D = 1.450 (m)
0 =450 ()
by (m
b = bo 2 (D y ) tanf
bo = 0.200 (m)
K = 0.333
® =30.0 ()
LBy (m
Lx 'y (m
sL (kN)
mL (kN.m)
D
1.850 (m)
sL = = (sLi) = 5.90 (kN)
mL = X (mLi) = 7.56 (kN.m)
2)
1.850 (m)
sL = ¥ (sLi) = 7.22 (kN)
mL = = (mLi) =  10.18 (kN.m)
D
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 100.0 1.910 4.78 6.79
T21 25.0 2.097 0.00 0.00

FORUMS8
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T yl sL mL
(kN) (m) (kN) (kN.m)
T12 100.0 3.660 0.90 0.68
T22 25.0 3.847 0.00 0.00
T13 100.0 4.660 0.21 0.09
T23 25.0 4.847 0.00 0.00
T14 100.0 6.410 0.00 0.00
T24 25.0 6.597 0.00 0.00
T15 100.0 7.410 0.00 0.00
T25 25.0 7.597 0.00 0.00
T16 100.0 9.160 0.00 0.00
T26 25.0 9.347 0.00 0.00
2)
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 100.0 1.910 5.63 8.87
T21 25.0 2.097 0.00 0.00
T12 100.0 3.660 1.23 1.11
T22 25.0 3.847 0.00 0.00
T13 100.0 4.660 0.36 0.20
T23 25.0 4.847 0.00 0.00
T14 100.0 6.410 0.00 0.00
T24 25.0 6.597 0.00 0.00
T15 100.0 7.410 0.00 0.00
T25 25.0 7.597 0.00 0.00
T16 100.0 9.160 0.00 0.00
T26 25.0 9.347 0.00 0.00
©)
1
= W . = 96,15 (kN.m/m)
SA = % o’ = 6316 (kN.m/m)
MA (kN.m/m)
SA (kN/m)
hA = 5.550 (m)
= 1.200
' = 1.200

FORUMS8
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2)
MD + ML
= —* @ = 120.72 (kN.m/m)
hA
SD + SL
SA= ——« o’ = 73.77 kN.m/m)
hA
MA (kN.m/m)
SA (kN/m)
hA = 5.700 (m)
a = 1.200
a’ = 1.200
4.1.3
M KkN.m 96.2
S kN 63.2
b cm 100.00
h cm 40.00
dl cm 10.00
d2 cm 10.00
n — 15.0
Asr cm’ 20.234
mm D22 @150
D— @ —
As cm’ 25.807
mm D— @ —
D— @ —
As cm’ e
p —_— 0.00860
K — 0.395
C —_— 5.829
S —_— 8.921
X cm 11.855
ogc N/mm? 6.23
gs N/mm? 143.02
T N/mm? 0.211
oca| N/mn 10.00
osa| N/mn 180.00
Ta N/mm? 0.496
Ce —_— 1.400
cpt | —— 1.416

FORUMS8
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4.1.4
M=M S
M (kN.m/m)
W (kN_.m/m)
S’ (kN)
L (m
€))
M= 120.72 73.77 0.175 = 133.63 (kN.m/m)
M kN.m 133.6
b cm 100.00
h cm 54.30
d cm 4430
Z cm 38.800
n — 15.0
Asr cm’ 18.604
mm D19 @150
D— @ —
As cm’ 19.100
p — 0.00431
K —_— 0.301
C —_— 7.391
S — 17.185
X cm 13.323
gc N/mm? 5.03
os N/mm? 175.52
oca | N/mn 10.00
o sa| N/mn 180.00
4.1.5
)
€Y
b cm 100.00
h cm 40.00
d cm 30.00
n —_— 15.0
mm D22 @300
As cm’? 12.903
oca| N/mn 10.00
osa| N/mm 180.00
Mr kN.m 62.7

FORUMS8
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@
L m 1.202
hA m 4.816
MD kN.m 247.63
ML kN.m 3.78
M kN.m 251.41
MA | kN.m/m 62.64
SD kN 189.13
SL kN 3.63
S kN 192.75
SA kN/m 48.02
©)
D22
Lo = 0.660 (m)
L =L Lo = 1.862 (m)
4.1.6
@
M=M
N= § sinf
M (kN.m/m)
N (kN/m)
M (kN.m/m)
S’ (kN/m)
0 = 90.0000 ( )
' (kN.m/m) 120.72
s (KN/m) 73.77
M (kN.m/m) 120.72
N (kN/m) -73.77
@
(e * amy | (cn)
10.00 D19 D16 @300 D32 @150 12.07
10.00 D16 D16 @300 — 8.40

*%x

FORUMS8
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®

M KkN.m 120.7
N kN -73.8
b cm 100.00
h cm 35.00
di cm 8.25
d1- cm 12.55
d2 cm 8.40
n — 15.0
Asr cm? 51.841
mm D16 @300
D32 @150
As cm’ 59.567
mm D16 @300
As cm’ 6.620
p — 0.02598
K — 0.548
C —_— 4.293
S —_— 3.546
X cm 12.557
gc N/mm? 9.53
gs N/mm? 161.62
oca| N/mn 10.00
osa| N/mn 180.00

di
di-

FORUMS8
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(kN)

(kN)
6.000 (m)
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= 45.0
25.0
= 100.0
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“)
o ck | N/mm’ 30.00
Ec | N/mm’ 2.80x 10
o ca | N/mm’ 10.00
— SD345
o sa | N/mm’ 180.00
n —_— 15.0
90.0000
Yy kN/m* 19.00
® 30.0
4.2.2
@
t
Pah = AW« an
l1+tand * tanf
B=— — 05—
¢
§ = o 10.00 (FE)
Pah (kN)
AW (kN)
0s ()
0] =30.0 C )
) )
SD = % (Pahi)
MD = Z (Pahi Li)
SD (kN)
MD
Li i
1
SD = 286.22 (kN)
MD =  437.15 (kN.m)
2)
SD = 343.16 (kN)
MD = 563.24 (kN.m)

(kN.m)
(m

FORUMS8



- 80 -

D

2)

AW Pah L Pah L
(m (m ¢) | m (k) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27 | 4.600 19.64
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94 | 4.100 |  32.57
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 3.600 |  45.05
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.100 |  55.59
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 2.600 |  62.76
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.100 |  65.36
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 1.600 |  62.19
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.100 |  52.08
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 0.600 |  33.95
4.850 0.350 | 35.0 | 5.675| 105.61| 45.50 | 0.175 7.96
AW Pah L Pah L
(m) (m) ) | (m (kN) (kN) (m) (kN.m)
0.500 0.500 | 46.0 | 1.250 17.88 4.27| 5.000 | 21.35
1.000 0.500 | 43.0 | 1.750 |  27.38 7.94| 4.500 | 35.74
1.500 0.500 | 41.0 | 2.250 |  38.55 12.51| 4.000 |  50.06
2.000 0.500 | 39.0 | 2.750 |  49.88 17.93 | 3.500 |  62.76
2.500 0.500 | 38.0 | 3.250 | 64.00 | 24.14| 3.000 |  72.42
3.000 0.500 | 37.0 | 3.750 | 78.81| 31.12| 2.500 |  77.81
3.500 0.500 | 36.0 | 4.250 | 94.15| 38.87 | 2.000 |  77.73
4.000 0.500 | 36.0 | 4.750 | 114.68 | 47.34| 1.500 |  71.02
4.500 0.500 | 35.0 | 5.250 | 131.33 | 56.59 | 1.000 |  56.59
5.000 0.500 | 35.0 | 5.750 | 154.44 |  66.55| 0.500 |  33.27
5.250 0.250 | 35.0 | 6.000 | 83.31| 35.90| 0.125 4.49

FORUMS8
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@
L= —— .k
b a*b
K = tan’ (== — -2 = 0.3333
4 2
v2
sL = | (pL+LB-dy)
vl
ol = jf(pL 1B+ Lx + dy)
y (m
pL vy (kN/m?)
T (kN)
y (m
ao
a:DL-i-e-i-?-i- (D 4+ v)-tanh
DL = 2.610 (m)
e = 1.000 (m)
ao = 0.125 (m)
= 0.500 (m)
D = 1.450 (m)
3] =45.0 ()
by (m)
b = bo 2 (D y ) tanf
bo = 0.200 (m)
K = 0.333
® =30.0 ()
LBy (m
Lx 'y (m
sL (kN)
mL (kN.m)
D
-4.150 (m)
sL = = (sLi) = 5.90 (kN)
mL = X (mLi) = 7.56 (kN.m)
2)
-4.150 (m)
sL = 5 (sLi) = 7.22 (kN)
mL = = (mLi) =  10.18 (kN.m)
1
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 25.0 2.097 0.00 0.00
T21 100.0 1.910 4.78 6.79

FORUMS8
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T yl sL mL
(kN) (m) (kN) (kN.m)
T12 25.0 3.847 0.00 0.00
T22 100.0 3.660 0.90 0.68
T13 25.0 4.847 0.00 0.00
T23 100.0 4.660 0.21 0.09
T14 25.0 6.597 0.00 0.00
T24 100.0 6.410 0.00 0.00
T15 25.0 7.597 0.00 0.00
T25 100.0 7.410 0.00 0.00
T16 25.0 9.347 0.00 0.00
T26 100.0 9.160 0.00 0.00
2)
T yl sL mL
(kN) (m) (kN) (kN.m)
T11 25.0 2.097 0.00 0.00
T21 100.0 1.910 5.63 8.87
T12 25.0 3.847 0.00 0.00
T22 100.0 3.660 1.23 1.11
T13 25.0 4.847 0.00 0.00
T23 100.0 4.660 0.36 0.20
T14 25.0 6.597 0.00 0.00
T24 100.0 6.410 0.00 0.00
T15 25.0 7.597 0.00 0.00
T25 100.0 7.410 0.00 0.00
T16 25.0 9.347 0.00 0.00
T26 100.0 9.160 0.00 0.00
©)
1
= W . = 96,15 (kN.m/m)
SA = % o’ = 6316 (kN.m/m)
MA (kN.m/m)
SA (kN/m)
hA = 5.550 (m)
= 1.200
' = 1.200

FORUMS8
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2)
MD + ML
= —* @ = 120.72 (kN.m/m)
hA
SD + SL
SA= ——« o’ = 73.77 kN.m/m)
hA
MA (kN.m/m)
SA (kN/m)
hA = 5.700 (m)
a = 1.200
a’ = 1.200
4.2.3
M KkN.m 96.2
S kN 63.2
b cm 100.00
h cm 40.00
dl cm 10.00
d2 cm 10.00
n — 15.0
Asr cm’ 20.234
mm D22 @150
D— @ —
As cm’ 25.807
mm D— @ —
D— @ —
As cm’ e
p —_— 0.00860
K — 0.395
C —_— 5.829
S —_— 8.921
X cm 11.855
ogc N/mm? 6.23
gs N/mm? 143.02
T N/mm? 0.211
oca| N/mn 10.00
osa| N/mn 180.00
Ta N/mm? 0.496
Ce —_— 1.400
cpt | —— 1.416

FORUMS8



- 84 -

4.2.4
M=M S
M (kN.m/m)
W (kN_.m/m)
S’ (kN)
L (m
€))
M= 120.72 73.77 0.175 = 133.63 (kN.m/m)
M kN.m 133.6
b cm 100.00
h cm 54.30
d cm 4430
Z cm 38.800
n — 15.0
Asr cm’ 18.604
mm D19 @150
D— @ —
As cm’ 19.100
p — 0.00431
K —_— 0.301
C —_— 7.391
S — 17.185
X cm 13.323
gc N/mm? 5.03
os N/mm? 175.52
oca | N/mn 10.00
o sa| N/mn 180.00
4.2.5
)
€Y
b cm 100.00
h cm 40.00
d cm 30.00
n —_— 15.0
mm D22 @300
As cm’? 12.903
oca| N/mn 10.00
osa| N/mm 180.00
Mr kN.m 62.7

FORUMS8
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@
L m 1.202
hA m 4.816
MD kN.m 247.63
ML kN.m 3.78
M kN.m 251.41
MA | kN.m/m 62.64
SD kN 189.13
SL kN 3.63
S kN 192.75
SA kN/m 48.02
©)
D22
Lo = 0.660 (m)
L =L Lo = 1.862 (m)
4.2.6
@
M=M
N= § sinf
M (kN.m/m)
N (kN/m)
M (kN.m/m)
S’ (kN/m)
0 = 90.0000 ( )
' (kN.m/m) 120.72
s (KN/m) 73.77
M (kN.m/m) 120.72
N (kN/m) -73.77
@
(cn) * () (mm) (cm)
10.00 D19 D16 @300 D32 @150 12.07
10.00 D16 D16 @300 — 8.40

*%x

FORUMS8
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®

M KkN.m 120.7
N kN -73.8
b cm 100.00
h cm 35.00
di cm 8.25
d1- cm 12.55
d2 cm 8.40
n — 15.0
Asr cm? 51.841
mm D16 @300
D32 @150
As cm’ 59.567
mm D16 @300
As cm’ 6.620
p — 0.02598
K — 0.548
C —_— 4.293
S —_— 3.546
X cm 12.557
gc N/mm? 9.53
gs N/mm? 161.62
oca| N/mn 10.00
osa| N/mn 180.00

di
di-

FORUMS8
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4.3
4.3.1
1750 1000 1750 1000 1750 1000
[ [ [ | 2610
[ (0 0 i [
4.3.2
@
Pall = ¥ - tan 3
1 + tand - tanf
6 = % = 10.00 (F)
B = % - b0s- ¢
Pah : (kN/m)
W (kN/m)
0 s : ()
Qo : =30.0 ( )
o : )
W Pah
() (m) (kN/my | (kN/m)
52.0 0.300 3.79 0.52
SD = Pah
MD = 1/3 Pah h
SD : (kN/m)
MD : (kN.m/m)
h : (m)
SD = 0.52 (kN/m)
MD = 0.05 (kN.m/m)

FORUMS8
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@

®

L= — K
b ay * by
K = tan’|— - J?— = 0.3333
4 2
v2
sL = fylpL +dy
v2
ml = J"ylpL' (h = y) - dy
y (m
pL vy
T : (kN)
ay : vy
ao
ay=NL+LP+?+NH+y
NL :
LP :
ao :
NH :
by 1y (m
by =bo +2 (NH +vy)
bo :
K
¢ : =30.0 € )
sL :
mL :
SL = ¥ (sLi) = 0.00 (kN/m)
ML = ~ (mLi) = 0.00 (kN.m/m)
T yl sL mL
kN | (kN/m) (kN.m/m)
T11 100.0 0.000 0.00 0.00
T12 | 100.0 0.000 0.00 0.00
T13 | 100.0 0.000 0.00 0.00
T14 100.0 0.000 0.00 0.00
T15 | 100.0 0.000 0.00 0.00
T16 | 100.0 0.000 0.00 0.00
S=8SD+SL = 0.52 (kN/m)
M=MD+ ML = 0.05 (kN.m/m)

(KN/m?)

(m

2.610 (m)
1.000 (m)
0.500 (m)
1.450 (m)

0.200 (m)

(kN/m)
(kN.m/m)

FORUMS8
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4.3.3

M kN._m 0.05
S kN 0.52
b cm 100.00
h cm 40.00
d cm 30.00
n — 15.0
Asr cm’ 0.010
mm D13 @300
D— @ —
As cm? 4.223
p — 0.00141
K — 0.186
C — 11.490
S — 50.433
X cm 5.566
oc N/mm? 0.01
s N/mm? 0.44
T N/mm’ 0.002
oca | N/mm’ 10.00
osa | N/mm? 180.00
Ta N/mm? 0.274
Ce — 1.400
Cpt | — 0.782

FORUMS8
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